J"F: NFERER IE HE BN
| 20234 E101[E EHEREYvH—1)—5 %L RIEEREE XKE KT

Kansa 188 % 10 &i
H B 2023/11/04(%) 11:30 kick off AR 905 =54 =EARRBREHKLRE2RE LS
x = 2 EvFiRkE 2 L2EBE B71g B A - # 90 A
RAEREE #0O #HaE E = =1 B LB AEHEE- THER
x = B2 BN B [ fERE B2 AR WK HADEL B3 —%
KICK OFF 2 e 2
REAS: 4 - 5 Rt N
BE A s 2 & 3 EH bR T
TR a—hk 5B 2 x & = AR RV 2 = B va—hk e
No.| % |90/75/60/45]30|15 /5t = = 5 B|IB|5 = = 5t/15/30[45/60/75/90] % | No.
il RS 22 GK |lak| 31 25 X
% Tt 40 DF [|DF| 6 =28 N#&
R Hith 4 DF|[|DF 3 IJ\E ik
£F KK 28 | DF |[DF 20 A & L
1 1 BA EiE 36 |DF [|DF | 66 I FK
HT 11 BE 155 8 MF [[MF 8 ER & 213 2 1
1 112 1 wmH E 7 MF|||MF 14 e ik 101 1 N
81 1 1 =3 BX 9 |MF ||MF 55 INGE =5
66 1 1 PR = 30 |MF |[Fw| 7 LT IEzo 21 1 59
~ HT 1 1 ZFH X 15 MF |[Fw 10 By = 87
1 2 1 4 2 X HRES 10 FWI|Fw_ 9 28 #a 12 1 1 81
F HE 1 GK||GK| 12 KA EF
$t2M ®FKER |18 DF ||DF 48 IR WS
A BE 38 |DF ||DF 65 HE XF
B &t 42 DF |[MF| 53| &k #EZA
15 1 1 wWEF s 33 |MF ||MF 25 BE KE
30 EHH 8 37 MF [|MF 54 BT -
8 1 1 NGRS 24 |MF ||[FW 59 BE XE 11 1 7
BE BEA 11 FW|[FW 16 B B 10
9 FhH FHH 20 [FW ||FW_ 52 =25 &5 1 1 9
= £.8 15 st st s s | gga Z &R 5
IRE T 2 F & ®¥ ATF F—LEE AT &¥ CUE T = F %
78 c2 9 =i BX 9 4 13 Sa—k 10 5 5 43 C2 | 55 IMNE =4
3 2 1 3 G K 2 4 3
5 3 8 C K 1 0 1
4 5 9 BEEFK 10 5 5
I 4 ffEFK 3 2 | 1]
1 3 4 #7940 3 2 1
0 0 0 P K 0 0 0

GCENATYA MO FIL. BTV —-F9DH DS54 791 RICLZE0ERT,
[(ZEER] CL: RAR—YMITAE. C2: 5771, C3: &, C4:ENRELDER. C5EEITA. C6: AR E. C7: EFaI A, C8: |EFAI A
LGRIGIEM] S1: B WLARERT LA, S2: ELBBIT A, S3: DIEME, S4: 15 A MHIE (F), S5: 5 AMEMHIE (b)), S6: RS, CS: E&2A

B | F—L | Aa7 BaE 7Rk B aka

2 |BREXK | 1-0 8 | BEE 1&# EHARD~Sx®S

8 |PBEfBK | 1-1 7 | LT Ezf | 8 K & EHAR@®~—>T—ILETAEDS

15 |BEEK | 12 9 28 f2E 8 AR & EYAF@®~—>d— )L EO®s
25 |BREEK | 2-2 10 &K #HES EHARDO~S

51 |BREAK | 32 10| &K #EF 24 HA & iz R@—P R3OS

60 BAt%EK | 3-3 59 H/BE KE 8 A B EHAR@®~—T—)LETH59S

68 |BHtEK | 3-4 | 8 AR E F#E®~S

75 |B8%8K | 3-5 14| b Tk | 9 28 @25 EHARQ@~—->PI 7RIS
88 | BREIK | 45 7 WH FE 10 2K $Es J—LETE® | PTU7H RS

(~:FJTI =TSVERA 1:FEENR S:va—b HATAVT x B
XEFRREDOMHTUIN-T8 LERLES , [+ 1RO LPORZ B HERLET
[&#]




